< O X > (um) for PV

-100f

150+

500,

A Bl L T
-10 -5 O 5 10 15 20

Vertex z (cm)

22000
=
21500

1000

500

5

10 1'5 20
Vertex z (cm)

=100,

A O @
o O O

o

< o x > tor merged vertices (um
N N
(@) o

|
FO ©® O &
S © & o

Ratiq
=
S

e B r TR N R R
IR V| A
...............................
+|.l :
.......................
] | T
1 1 S
1 S [EREEE
E L[
o o A R
H

5 10 15 20
Vertex z (cm)

DOM_TT
—_— BéM_TT_mkFlt -D

M_TT_mkFit-D

M”_mod-127

MRKET-DQM_originai-0
éM “mod_updatedmod-127

<oy > (um) for PV

200

Vertex z (cm)

< 200

=
o
o

<0z>(um) for P
o

T
1 il

Vertex z (cm)

10 15 20
Vertex z (cm)

o
o
o

000

<o_§>(pma1

3000

2000

Vertex z (cm)

N =
o o
o o (@)

< dz > for merged vertices (um)
]
o

510 15 20
Vertex z (cm)

...............

...........

5 10 15 20
Vertex z (cm)



	Contents
	Page 1


